PHYSICS |1
Dr. Joenathan — Winter 2000

HOMEWORK VI
Chapter 24; 5, 17, 26, 36, 39
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1 HG |, 4% qusE
47-[‘;:0 H r12 rl3 r23

__1 [1600x10°C) (400x10°C) , (600 x10°C) (-300x10°°C) _ (400 x 10°°C) (-300x10°C)"
4re, O 1.50m 5.00m 3.50m .

=8.06 x 107%J

(b)

~ 1 %% _Hig9 x 10° NDm2 [(4.00x10°C) (-3.00x10°C)
47-[50 I H 3.50m

23
=-3.08x1072J
AU =U,, - U,,, =-3.08 x 102J - 8.06 x 102J = -0.111J
AK +AU =0

AK =K, =-AU =+0.111J
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1 a8 _Hggy 100 N sz [(6.00 x 10°C) (-3.00x10°C)
47150 M3 H 5.00m

=-3.24 x 107

AU =U,, - U, =-324 x 102J - 806 x 102J = -0.113]

AK =K, == AU = +0.113]
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= —(600.V/m i +800.V/m j) {(3.00m) i — (600.V/m i +800.V/m j) 0(4.00m)
=-5.00x10%V
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AV =—E s, — E DSy

=—(600.V/m i +800.V/m ) {4.00m) j — (600.V/m i +800.V/m j) {3.00m)i
=-5.00x10°V
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AV = -E[Ds,. =- 500,V 1 + 800, j“HE(&OOm i +4.00m j)
O m m° 0

= -5.00 x10°V
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" ame, [ 0.080m (0.120m)” + (0.080m)" [

= +4.53x10°V
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g, b,

__1 [P40x10°C  -36.0x10"°C
4me, H 0.120m 0.160m

=-2.25x10°V
=AV,, =-2.25x10°V - 4.53x10°V = —-6.78x10°V
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24-36. (b) Betweenx =3 andx=6m
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